


today
- HW 2 is done but not entered

- HW 3 link didn't go
live

- Per us all due Wed .



Edit Distance
-

The minimum number of
deletions

,
insertions

,
or

substitutions Of letters to
transform between two

strings .
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How to solve :
-

Align matching will help :
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-

Example :

Alignment matrix :

( at most Mth columns )
Another way

:

Write # of repiliohons :



Don 't be greedy !

The temptation is to do this
-

as you go
:

A

BE
A DA11µg?

!
it

BADC
edit distance ?

Idea : try matching ,
or not

try both
, pay

costs that depend
on letters



Recursive formulation-
If I align like this

, can

observe :

If
you

delete last (aligned )
column

,
the rest will still

be optimal for shorter
sub strings edit distance

.

Why ?

→÷→



Turning this into a matrix :

Let EDITCAG.am]
, Bff .  on ] )

be edit distance bit A TB
.

When we choose how to

align ,
3 possibilities :

- insertion :

- deletion :

-

- substitution :



Turning this into a proper recursion !

Let EDITA
, j ) : = edit distance

between :

A A . . i ]

Bffooj ]

All .
..it] in

here
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Give me 2 strings :



Now
,

don't bother analyzingthe recursion .

( It's awful !)
Instead

, besmart :

Memos Ze !

Table
-

:



Algorithm :

Runtime
-

:



Example:

I

-



Another: C DNA Example )



Next : Subset Sam

Given a set of positive
iflergersanda - get value

is there a subset of
X which sums to t 7

Recall our Iexponential )
backtracking .

Formalize this : referscont

Text't't:{ incited.is?iixa ,
not :

TCXC2o.it ,
t )

/



Can we do DP ?

In this chapter :

Or :

How to menace ?


